
25 7 ld = 10 0000 1111

JR 15
v

6000 0001= L
0000 00 11 = 3
0000 0111 = 7
0000 IIII =15
00011111 31
001 1111 =6}

2
4=16

25 =32

27 =128

054 32176

of|
writeThe binary
expression of
h
4
-1a) = 00010III|

512JIF
.

0001 IIII

5/2.15qIII IIII{

d)90-r III||]|y000000

=15

=31

= 127

8910

2
8
= 20ï

9 - 2=312
2
10
= 1024

0
o
O

.

= 1023
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Writethe followingbinary A's
in Hexadecimal

a)6000 0|"

5) 000| 00oo

00 o | 0110

= yld = 7IX
= 16\d: | Based

:
Digits
oil

Base10:9,121.719
Base 16:air,"I"is"
01 l "I"Th#18KDIEF

IXRO

.

= 221.d=.1×26

&)l011o "8 II" =\XB 8FDidonDu > shorcut for/ going frombiliary to Hexadel.



Wate these hexadecimal #'s indecimal

a)^3IX

b)\x3 3
CWXK- AA

.

o|z

l
160

2
3
= 2.2.2- s.
0FI

|34= 1.13.2323t]
27%

0

1.

137'=sY
1
16'

59th."59

h
162

so

=

| 0

f.16'+ 3.10°=16+3=19
= 3.16'+3.16

o
= 48 t3=51

= 10.16+10.16'+10.16=
= 10.256+ 160+10:

l

==25so+ 170=I
= 2230


